Moto-All.ru

CITMCOK OETAJIEY N1 "HANDLEBARS & SWITCHES" TRIUMPH SPRINT

ST

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY N1 "HANDLEBARS & SWITCHES" TRIUMPH SPRINT

ST

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T2040403 CpOK 1IOCTaBKH OT 27 gHel HANDLEBAR,FORGING,LH
Handlebar, LH. 281466
1 T2040571 Cpok nocTaBku ot 19 gHen 469515 All Mkts expt UK,
291666469515 UK only
1 T2040651 CpoK mocTaBK# OT 19 mHeH Handlebar, LH. 469516
. SPARES KIT,LH/RH
1 T2040435 CpOK 1IOCTaBKH OT 27 gHel HANDLEBAR
. SPARES KIT,LH/RH
2 T2040435 CpOK IOCTaBKH OT 27 gHel HANDLEBAR
2 T2040652 Cpox nocTaBku oT 19 gHEl Handlebar, RH. 469516
Handlebar, RH. 281466
2 T2040572 Cpox nocTaBku ot 19 gHen 469515 All Mkts expt UK,
291666469515 UK only
2 T2040405 CpOK TIOCTaBKY OT 27 mHeH HANDLEBAR,FORGING,RH
3 T2040975 CpOK TIOCTaBKH OT 27 mHEH WEIGHT, H/BAR
. BUSH, RUBBER,
4 T2041030 Cpox nocTaBku OT 27 gHeH’ 27X10X21MM
5 T2040969 Cpox 1nocTaBku OT 27 gHel FINISHER, HANDLE BAR
6 T3330933 Cpox nocTaBku OT 27 gHel SCREW,CSK,M6X1.0X60,SLV
7 T2040977 Cpox 1nocTaBKu OT 27 gHel SLEEVE,WEIGHT,H/BAR
8 T3050132 CpoK mocTasky ot 27 Hed g/ASPSCREW' M8X1.25X25,
9 T2040274 Cpok mocTasky ot 27 gHed SWITCH ASSY,LIGHTS
ON,LH
. SWITCH ASSY,
10 T2040096 Cpok 1nocTaBku OT 27 gHel HANDLEBAR, RH
11 3330018-T0301 Cpox nocTaBku OT 27 gHel SCREW, PHIL, M5 X 25
12 3330019-T0301 Cpox nocTaBku OT 27 gHel SCREW, PHIL, M5 X 40
13 T2040740 Cpox nocTaBku OT 27 gHEel GRIP, HANDLEBAR, LH
14 T2040331 Cpox nocTaBku OT 27 gHER GRIP, RH, THROTTLE
. THROTTLE
15 T2040252 Cpok nocTaBku OT 27 gHEeHl ACTUATOR, TWIN CABLE
16 T2040497 Cpok nocTaBku OT 27 gHel CABLE, THROTTLE, TWIN
16 T2040335 Cpox nocTaBku OT 27 gHel CABLE, THROTTLE, TWIN
17 T3700136 Cpox nocTaBku OT 27 gHel CLIP,CONNECTOR,DUAL




